
1. PK is sad to see Jen go, they also realise that they don’t want her working in another law firm. They 

therefore pay her $500,000 not to work in a competing public practice for 5 years.

Conclusion: Not ordinary income.

2. The PK firm also carries out a cash collection from staff and partners which enables PK to give her a 

gold watch and a Westfield shopping voucher in the amount of $2,000.

Conclusion: Not ordinary income.

Question 3
A student at UWA has won a scholarship of $6,000 per annum from an IT company. A condition of

Indicator Yes (O.I.) No (O.I.)

Character of payment 
in hands of taxpayer

Appears to be a payment for entering 
into a restrictive covenant which are 
generally of a capital nature. See FCT 
v Woite; professional footballer signed 
agreement with North Melbourne that if 
he ever decided to play football in 
Victoria it could not be a club other 
than North Melbourne.

Cash or convertible 
into cash

Cash.

Must ‘come in’ to the 
taxpayer

Has come in.

Nexus with an earning 
activity

Not being paid to work for PK, but 
rather to not work for their competitors. 

Periodicity, 
recurrence, regularity

Once-off.

Indicator Yes (O.I.) No (O.I.)

Character of payment 
in hands of taxpayer

Personal gift or testimonial.

Cash or convertible 
into cash

Voucher is convertible into cash. Watch is not convertible into cash.

Must ‘come in’ to the 
taxpayer

Voucher has come in. Watch has not come in.

Nexus with an earning 
activity

Not connected to any specific service 
rendered, more likely to be seen as a 
parting gift. Analogous to Seymour v 
Reed; professional cricketer received 
money collected from a benefit match 
that had been organised to mark his 
retirement. 
NB if it had come from their own 
coffers and hadn’t been collected it 
would have been different.

Periodicity, 
recurrence, regularity

Once-off.



the scholarship is that the student will work for the company for a period of 2 years after graduating

from UWA. Is the scholarship assessable income or exempt income?

Required pre-reading

• Foundations of Taxation Law – Chapter 10 and paragraph [12.2]

• ITAA97 – ss 6-5, 6-10, 6-20, 15-2, 51-10, 51-35

How to answer this question:
- definition of assessable income
- test if its ordinary income according to 5 requirements
- check if its in statute law or if it is exempt, not assessable non exempt
- address whether it’s exempt or not.

Assessable income = ordinary income + statutory income (s6-5 ITAA97).

Is it ordinary income?

Therefore: should be considered ordinary income.

Is it statutory income?
-  s15(2) of ITAA97, includes among examples of statutory income ‘rendered services’ which refers to past 

tense therefore not statutory income as this payment is for future services

Given that it may be considered assessable income, can it be made exempt or non-assessable non-exempt 

income?
- ITAA97 s51-10

- If you are a full-time student at a school, college or university the following amounts are exempt from 

income tax: a scholarship, bursary, educational allowance or educational assistance, subject to these 

exceptions and special conditions: see section 51- 35

Indicator Yes (O.I.) No (O.I.)

Character of payment 
in hands of taxpayer

Conditional gift for future employment.
Motive for person making amount is to 
gain their employment, inducement.

Conditional gift for future employment.

Cash or convertible 
into cash

Yes.

Must ‘come in’ to the 
taxpayer

Yes. 

Nexus with an earning 
activity

Connection with future employment.

Periodicity, 
recurrence, regularity

Annual payment for two years, has an 
element of regularity to it.



- assuming that the student was a full time student then this will apply
- ITAA97 s51-35

- Payments to a full-time student at a school, college or university
- The following payments made to or on behalf of a full-time student at a school, college or university are 

not exempt from income tax under item 2.1A of the table in section 51-10:
- (c)  a payment by an entity or authority on the condition that the student will (or will if required) 

become, or continue to be, an employee of the entity or authority;
- (d)  a payment by an entity or authority on the condition that the student will (or will if required) enter 

into, or continue to be a party to, a contract with the entity or authority that is wholly or principally for 

the labour of the student;

Tutorial 3

Question 1
Mrs Beach (who works as an accountant in Perth) goes to Dunsborough in the South West of WA for a 

holiday. While there, she sees a double block of land for sale which has a nice view over the ocean. Mrs 

Beach thinks that the land would be perfect for her dream home and, as she is retiring and has no children, 

decides that it would be nice to have some people around her by leasing out the excess land.

The next day, Mrs Beach has coffee with a friend (in the real estate industry) who suggests that she fence off 

one of the blocks, put in a garden and lease out 1 or 2 plots to short term campers. Mrs Beach and her friend 

use the back of a napkin to make some calculations about the likely income from these activities. They 

conclude that the activities should be cash-flow positive in the second year. Mrs Beach also checks with the 

Busselton City Council whether a licence is required.

That evening Mrs Beach compares the projected income from the extra land against the amount of interest 

that she would earn if she sold the extra land and deposited an amount equal to the value of the excess land 

with a bank. She jots down these numbers in a scrapbook along with her resolution to conduct an annual 

review of the activities and to sell the excess land if, after a 3 year period, the actual income proves to be 

less than 75% of the interest she would otherwise have earned.

The following day Mrs Beach signs a contract to purchase the land for $1.5 million plus legal fees of $10,000 

and stamp duty of $65,000 and arranges for the house to be built. One year later, once the house has been 

completed, Mrs Beach places an advertisement in the local South West newspaper and on a sign on the 

verge. She has 7 campers over the next year. Accordingly, Mrs Beach fails to meet the 75% threshold for the 

year.

In the following year, Mrs Beach has a similar number of campers, but, at the request of several of the 

campers, she also sells 2 small portions of the excess land (10% of the total land) to those campers to use 

as holiday shacks for $250,000 each.



Which of the following amounts might form part of Mrs Beach's assessable income?

(a) Rent from campers in the first or second year of renting the land

(b) 2 x $250,000 from sale of excess land

Do not consider the CGT small business concessions or the main residence exemption.

Required pre-reading

• Foundations of Taxation Law – Chapters 10 and 19

• ITAA97 – ss 6-5, 6-10, 6-20, 102-5, 118-20, 104-10, 116-20, 110-25, 112-25, 115-5

Answer
a) Rent from campers in the first or second year of renting the land.

Assessable income is equal to ordinary income plus statutory income (ss6-5, 6-10 ITAA97). 
- Is it ordinary income? 

- Periodicity, regularity, recurrence?
- reasonable regular, 7 times in one year

- Cash or convertible into cash?
- yes

- Came in to taxpayer?
- yes

- Character of payment?
- rent, typically income (Adelaide Fruit)

- Nexus with earning activity?
- income from a business?

- is she carrying on a business?



- What is scope of business? Is the rent an ordinary proceed of this business? 
- short term rentals seems to be nature of business
- this would receipt therefore be more likely than not be classified as ordinary income

Indicator Yes, It is a business No, it isn’t a business.

Scale and Magnitude Reasonably small scale.

Systematic/
Commercial manner?

Yes, kept a book, made calculations, 
use of system; had plan for period of 
time (see FCT v JR Walker). 

Advertisement indicates that she is 
willing to operate in commercial 
manner (FCT v Pavona)

Profit Motive? Mrs Beach’s motive can be seen as 
being motivated by profit. This is 
evidenced by her consulting a real 
estate agent, making calculations 
about the income of the activities and 
keeping a scrapbook etc. She 
compares the money she would make 
by engaging in this activity versus 
simply depositing the money in the 
bank and had benchmarks to reach. 
She engaged in planned activities. As 
such she clearly has a view for profits.

- See Myer Emporium case; she 
always had the intent to make a 
profit

- See also Whitfords Beach; This 
would be considered a business 
scheme to make a profit, if it had 
originally been to have 
companionship; by engaging in 
systematic actions and consulting 
with a real estate agent etc. this 
changed into a business.

- wanted companionship
- retirement
- plans were only written on napkin 

and scrapbook


